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1. Which of the following did Taylor NOT find "appalling" in his study of workers in

steel companies?

A) Worker output was only about one-third of what was possible.

B) Workers would only attempt to perform a job if they were shown to have
aptitude for it.

C) Workers employed different techniques for the same job.

D) Workers "took it easy" on the job.

2. One managerial function that is identical in hoth Fayol's and Mintzberg's systems is

A)

leader B) negotiator C) resource allocator D) monitor

3. According to Katz, the four critical managerial skills can be classified as

A) 1nterpersonal, political, empirical, and technical
B) technical, interpersonal, political, and controlling
C) technical, political, interpersonal, and conceptual
D) technical, political, conceptual, and empirical

4. A multinational corporation (MNC)

A) 1s defined as any company that has no "home base"
B) includes any company that exports goods overseas
C) 1s defined as a company that has its home base in the United States and

D)

various operations overseas

1s any organization that maintains operations in more than one country

5. A factory that has adhered to all pollution control standards has

A)
C)

B) been socially responsive
D) been ethical

met its social obligationbeen

economically responsible

6. Which of the following is a basic definition of ethics?

A) rules that define good and evil

B) laws that define legal and illegal

C) principles that define standards of decency

D) principles that define right and wrong iﬁ?ﬁnﬁﬁﬁ EDEU
7. What is a heuristic? ides.

A) apurely intuitive method of decision making

B) acomplicated and systematic method of decision making
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C) atotally unreliable method of decision making
D) a shortcut or rule of thumb that is used for decision making
8. Which term best characterizes a decision that has bounded rationality?
A) rigorous and comprehensive B) not good enough
C) good enough D) virtually perfect
9. The first step in the six-step strategic management process is to
A} Identify the organization's mission
B) identify strategies to reach the organization's goals
C) analyze the opportunities the organization has
D) analyze the organization's strengths and weaknesses
10.SWOT analysis identifies and analyzes an organization's
A) human resource assets
B) strengths, weaknesses, opportunities, and threats
C) strategy for competing in the market
D) long-term goals
11. is the power that rests on the leader's ability to punish or control.

A) Coercive power B) Reward power C) Referent power D) Expert power

12.A(n) organization is able to change rapidly as needs require.
A) hierarchical B) organic C) wvertical D) mechanistic
13.A subcontracts part of a project out to outside suppliers.
A) matrix structure B) boundary organization
C) network organization D) wvirtual organization

14.In Woodward's study, this type of production combined high vertical differentiation
and low horizontal differentiation.
A) mass production B) unit production
C) technological production D)  process production

15.The first step in Lewin's three-step description of the change process involves

A) freezing the new state B) changing to a new state

C) changing to a new status quo D} unfreezing the status quo

16. is the process of taking a creative idea and turning it into something
useful.
A) Creativity B) Innovation C) Imagination D) Inspiration

17.The degree to which an employee identifies with his or her job or actively
participates in it refers to the employee's
A) organizational commitment B) global commitment
C) jobinvolvement D) job satisfaction AR R EN R
18.Emotional intelligence includes all of the following EXCEPT . Exam Printed on 2 sides.
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A) self-management B) self-awareness
C) social skills D) cognitive skills

19.An individual who wants to buy a home in a neighborhood with a low crime rate is
satisfying which need?
A) physiological B) self-actualization C) safety D) esteem
20.According to Herzberg's Motivation-Hygiene theory, are associated with
job satisfaction.
A) hygiene factors B) motivators C) punishments D) rewards
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Customer relationship management (CRM)

Contingency approach

Differentiation strategy

Organizational culture

Transformational leadership
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